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Before we start our discussions on what form of economic system your fellow countrymen and women may want or expect in 2020 we need to spend just a little time looking at what economics actually is. What follows is a very brief introduction to the basics of the subject.

What is economics?

Economics is a social science as it is concerned with the study of human behaviour. It looks at how humans behave in markets, in firms, and as countries or economies. It also looks at how these economies interact. The 'humans' we are studying may be consumers, workers, decision-makers in firms, or members of the government. 

We are all parts of an economy. We need and want many goods and services - we, individually and as groups, have unlimited wants. For example, if the students in your class were asked to write down all the things they want, the list would in all probability, be extremely long. If the experiment were repeated across the whole country, the list would be so enormous that it would be impossible to fulfil. This is because, compared with the unknown, potential desires of individuals for more and better goods and services, the means for satisfying these wants i.e. resources, are in strictly limited supply, or as economists would say, scarce. So economics is:

THE STUDY OF HOW SCARCE RESOURCES ARE OR SHOULD BE USED

Economics looks at these scarce resources and aims to see how they can be used (economists say allocated) in the most efficient way. So we can say that the fundamental problem that we study in economics is how best to allocate scarce resources amongst all their many alternative uses in order to satisfy human wants.

The subject of economics has been defined in different ways. Here are some examples from famous economists:

· Adam Smith (1723-90) considered economics in terms of wealth and regarded his work as "an inquiry into the nature and causes of the wealth of nations". 

· John Stuart Mill (1806-73) saw economics as the practical science of the production and distribution of wealth". 

· Thomas Carlyle (1795-1881) regarded economics as the "dismal science". 

· Herbert Davenport (1861-1931) - economics is "the science that treats phenomenon from the standpoint of price". 

· Alfred Marshall (1842-1924) - economics is "on the one side a study of wealth; on the more important, a part of the study of man". 

· Lionel Robbins (1898-1984) - "the science which studies human behaviour as a relation between ends and scarce means which have alternative uses". 

The fundamental economic questions

We have already identified the fundamental economic problem as scarcity. There are not enough resources to cater for all the unlimited wants of people. Because of this scarcity, economists and governments try to answer three fundamental questions:

· WHAT TO PRODUCE? 

· FOR WHOM TO PRODUCE? 

· HOW TO PRODUCE? 

What to produce?

This decision is a matter for both government and the private sector. The government has to decide what goods and services to provide and how much of each to provide. As we have seen, more of one thing generally means less of another (opportunity cost), so some difficult decisions arise here.

The private sector also has to decide what to produce, but this will tend to be decided by the market. Firms will examine demand and try to produce goods where there is the greatest level of demand. This question is then answered by the market forces of demand and supply.

For whom to produce?

This question is looking at the distribution of the goods and services we produce. Factors of production earn incomes. These incomes can be used to purchase goods and services. So the higher the level of income, the more goods and services can be demanded. In the market sector of the economy, this question is therefore decided by relative rewards to factors of production. Different criteria will be applied in the case of government provided services such as free-state education.

How to produce?

Firms will decide this on the basis of cost. Their aim, as we have seen, is to make a profit - in fact the maximum profit possible. To help them do this, they need to produce as efficiently as possible. The more efficiently they produce, the lower the cost of production. So how much they use of each factor of production will depend on how much that factor costs and how productive it is. If labour is cheap, but nevertheless nearly as productive as more expensive machinery, then the firm may choose labour intensive production. If, however, machines are more productive per dollar spent, then they may choose capital intensive production.

Economies approach these questions in different ways. Some may choose to have a large government sector (perhaps even total state control) whereas other may choose to leave things almost totally to the private sector and markets. This means that economists consider three different types of economy.

Types of economy

We have mentioned economies a number of times already. If we think about the economies of USA, Great Britain, France, Russia, China, North Korea and Cuba, are they all the same? 

We therefore have to develop theories that allow for three types of economy.

· Market economies 

· Mixed economies 

· Centrally planned economies 

This can be illustrated on a diagram or spectrum where the type of economy is placed on a scale of government control.
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The Degree of government intervention

This spectrum shows us where different economies lie in terms of the mix between government intervention and the free market. The further to the left on the spectrum, the more the economy relies on the free market to allocate resources. The further to the right on the spectrum, the larger the role the government plays in the allocation of resources and the closer the economy is to a centrally planned economy.

However, this is a very single dimensional view of a mixed economy and it is important to be aware that governments also differ in the type of intervention as well as the quantity of intervention. For example, governments tend to intervene to ensure that certain goods and services of value to society are produced (e.g. health care). Some governments may intervene by providing these directly, while others may rely on the private sector to provide them, but with rules and regulations on how the good or service is provided. These two governments may have similar positions on the spectrum, but the nature of the intervention may be very different.

Types of goods

Public goods

Pure public goods are ones that when consumed by one person can be consumed in equal amounts by the remainder of society, and where the possibility of excluding others from consumption is impossible. 

Examples of public goods are:

· national defence; 

· the police service; 

· street lighting; 

· lighthouses; 

· flood-control dams; 

· pavements; 

· public drainage. 

It is likely that the markets, left to itself, will seriously under-produce such goods, or possibly not produce them at all. This is because the market will only provide goods for which a profit can be made, and pure public goods possess two important properties that together make their production on the basis of private profitability extremely difficult. These features are:

· non-rivalry ( or non-diminishability); 

· non- excludabilty. 

Firstly, consider the characteristic of non-rivalry: this means that one person's use of the public good does not deprive any other person of such use or does not diminish the amount available to others; for example, if one person enjoys the benefits of being protected by the police-force, a flood control or the national defence system, it does not prevent everyone else doing the same; similarly, if one person benefits from walking along a street at night-time which is paved, free of pot-holes, and well-lit, the benefits and the availability to others would not be diminished.

Secondly, consider the characteristic of non-excludability: this means that when the public good is provided to one person, it is not possible to prevent others from enjoying its consumption - sometimes summarised as: provision at all means provision for all; thus, if a police force, a flood- control dam or a national defence system is successful in offering protection to citizens of a country, once it has been provided it is impossible to exclude anyone within the country from consuming and benefiting from such goods; similarly, for a paved and well-lit public street - nobody can be prevented from enjoying its benefits.

The concept of a 'public good' can perhaps best be understood by comparing it with its opposite, a private good. 

A private good possesses two features, excludability and rivalry, and when consumed by one person, it is not available to others; thus, a person buying a new washing machine can exercise private property rights over it and exclude others from enjoying its cleaning abilities, whilst, at the same time, diminishing the total stock of washing machines available for sale to others.

Thus, in the case of public goods, the market fails because the private sector would be unwilling to supply them - their non-excludability makes them non-marketable, because non-payers cannot be prevented from enjoying the benefits of consumption, and therefore prices cannot be attributed to particular consumers. This involves the free-rider problem, which arises when it is impossible to provide a good or service to some without it automatically and freely being available to others who do not contribute to its cost. For example, imagine a situation in which you shared an island with five other inhabitants; if you paid privately for an army to defend the island against violent invaders, your five co-inhabitants could 'free-ride' off you by enjoying the benefits of the defence, without having to pay anything towards it; there would probably come a point when you would withdraw your payments and, like the others, leave it to someone else to foot the bill; eventually, the army would not be provided at all. 

Free riders

Free riders are those who enjoy the benefits of a public good without having to pay, because it is impossible to exclude them.

Hence, in a free market, a whole range of pure public goods may not be provided, and the only answer is for the state to provide them, financed out of general taxation. Moreover, the non-rivalry aspect of public goods means that the cost of supplying one more user i.e. the marginal cost, is zero; for example, once paving stones have been laid, it makes no difference how many people walk along them as there is no additional cost involved. As the condition for the achievement of allocative efficiency is that price should be set equal to marginal cost, it would therefore follow that to achieve an optimum level of output and consumption of public goods the state should provide them at zero prices.

Non-pure public goods (quasi-public goods)

In practice, various ways may be devised for excluding free riders from the consumption of public goods, as the characteristics of non-excludability and non-rivalry may not be completely present. In such cases, the goods would be referred to as non-pure or quasi-public goods; for example, in the case of a motorway, various methods could be used, such as electronic tagging or toll-gates, to make users pay ( an impossibility with a pure public good), so excludability would be possible; and, if the motorway were to become sufficiently congested, non-rivalry would not be present i.e. as the road reaches its full vehicle capacity, as often happens in the rush-hour periods on urban motorways, each extra road user does reduce the availability of the motorway to other motorists and raises the marginal supply cost above zero. (The marginal cost would of course be zero, or near to zero, on an entirely uncongested motorway.)

Thus a non-pure public good is an example of a mixed good, which is one which has both a public and a private good content. A motorway provides an example of a public good with a private good component, and conversely it is possible to identify private goods, with a public good component e.g. driving a car is an act of private consumption, but when public transport is not available, perhaps because transport workers are on strike, car owners may offer lifts to stranded travellers creating some public benefit. Hence, in practice, many public and private goods contain some mix of both. 

Merit goods

Merit goods are the opposite of demerit goods - they are goods which are deemed to be socially desirable, and which are likely to be under-produced and under-consumed through the market mechanism. Examples of merit goods include education, health care, welfare services, housing, and fire protection, refuse collection and public parks. 

In contrast to pure public goods, merit goods could be, and indeed are, provided through the market, but not necessarily in sufficient quantities to maximise social welfare. Thus goods such as education and health care are provided by the state, but there is also a parallel, thriving private sector provision. Indeed, there is considerable disagreement between economists on the right and left of the political spectrum over the extent to which such goods should be provided by the state or the private sector. We consider these arguments later in this section.

Before we proceed with our discussion of merit goods, and in particular the question of why merit goods tend to be underprovided by the market, it would be useful at this stage to summarise the main differences between public goods, private goods and merit goods. 

	Main features
	Public goods
	Merit goods
	Private goods

	Diminishability (non-rivalry)
	Non-diminishable (non-rivalry)
	 
	 

	Excludability
	 
	 
	Excludable

	Benefits
	 
	Individual and communal (strong positive externalities)
	 

	Provider
	 
	 
	Usually private enterprise

	Financed by
	Usually taxation
	 
	 

	Examples
	 
	 
	 


Main features of public, merit and private goods - full table

	Main features
	Public goods
	Merit goods
	Private goods

	Diminishability (non-rivalry)
	Non-diminishable (non-rivalry)
	Diminishable (rivalry)
	Diminishable (rivalry)

	Excludability
	Non-excludable
	Excludable (but full benefits are not felt by those who are included)
	Excludable

	Benefits
	Communal (mainly positive externalities)
	Individual and communal (strong positive externalities)
	Individual (mainly internalities)

	Provider
	Usually government
	Government and/or private enterprise)
	Usually private enterprise

	Financed by
	Usually taxation
	Taxes and/or prices
	Usually through the price system

	Examples
	National defence, law and order, street lights, lighthouses
	Health, education, housing
	Cereal, clothes, computers, TV sets etc.


De-merit goods

Demerit goods are goods which are deemed to be socially undesirable, and which are likely to be over-produced and over-consumed through the market mechanism. Examples of demerit goods are cigarettes, alcohol and all other addictive drugs such as heroine and cocaine. 

The problem arises from the fact that so long as an effective demand is present, such goods are, in all probability, going to be extremely profitable to produce, and this is all that a price system takes into account - the market neither possesses a 'heart' to enable it to help those in need, nor is it inherently able to make value judgements about which commodities are good or bad for society as a whole: it is prices and profits which act as the 'guiding light' to resource allocation.

However, the consumption of demerit goods imposes considerable negative externalities on society as a whole, such that the private costs incurred by the individual consumer are less than the social costs experienced by society in general; for example, cigarette smokers not only damage their own health, but also impose a cost on society in terms of those who involuntarily passively smoke and the additional cost to the National Health Service in dealing with smoking-related diseases. Thus, the price that consumers pay for a packet of cigarettes is not related to the social costs to which they give rise i.e. the marginal social cost will exceed the market price and overproduction and over-consumption will occur, causing a misallocation of society's scarce resources.

That is all we need to cover at this stage of our deliberations but later in the year we will return to the environment and then we confront both market and government failures – which may be familiar to some of you.
